EARAROBEEIERT — 2 N— IBISH —F

201953A2H (+) 1mEpR#3A

12R paEXy- A

1000AF

(E&

(xwlw | lmEmml - |2 ) w8

[A~&£] 1 7 11,000,000 § ~ 2 3 :4,400,000 §

[(45%E] EE
3 % 2,800,000 3

4 7% 11,700,000 . 5 7% :1,100,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— s EriR— 121, - . . AIRE (EX)
N MEEEYr s # 5 don 1(2_1)1 4-4 34.0100.2| 4 :3_(152) o
R4 TIATv— B:7TL&— SN
S e a4 | BAKHE— 1:21.1 9-9 33.5|100.4| 3 534 | HEZEE (BR)
2 1 HER 57.0 (74%) () |ZEm=E
LG4 TAT v — BTINT 1 2—F J—YTr—L
IS\ 4 4 | HHEES 1:21.2 2-2 34.4|99.0 | 7 468 | KEFE— (EH)
sl 6| 7NV F 5.0 2 o | ) 5= ax—t
L:xrivH /3% BixA2avavtEy B
IRHEE : - THET (EX)
N - BENESES [B] i 5 it (11.211/.44) 1-1 34.9| 95.8 | 5 (:?3) ZEi :_I)_
RGATAT v — BiFAT4—ANZ b J—H 2T p—Lh
£ o6 | JIEEHE 1:21.6 3-2 34.7] 945 | 1 4062 | BEBE (FER)
5/glg|T/NTY+7T b 57.0 (3/4) 42) | B FrF-L-sr
R:F4—=TA2N7 b BETNAY J—HrTr—LA
o EHEER :21. — . . HwHEZ (FXR)
6 2 TR Y ZXHA H 7 f54.0 (11 211/‘8 7-6 34.4| 92.5 9 tg? o
RFA—TAINT b BT RIA VDS J—HrIr—L
K K 4 o6 | MHEH— 1:22.0 7-6 34.7| 90.4 | 8 476 | BIEF (EBR)
7155 2437w F 57.0 (4 1/4) -8) FAAEFIE
LA a9R=-5— B:xFhHhxEINIS xE B
N 44 | BHFE 1:22.1 4-4 35.0| 89.1 | 6 520 |FAHRE (ER)
glglg|*T¥avi¥s 57.0 (3/4) (cp) | MAAETIE
XA TagR—T— BALYLRTY— VIV E AR
. - o4 | KB 1:22.2 4-6 35.0| 88.1 | 2 484 | BFAIE (EH)
9l7/7  E-R21Z=T7—-2 57.0 (1/2) © | AKREEF
LX:Ayaizgr—2x B:OSF 4 EHS
@ 71 L
) 46.2-34.6
NA> 24 L | 12.4-10.8-11.7-11.6-11.3-11.2-12 1
® I —F—@EBIERL
13=7r=
23—7F—
33—+ — |[3-6,9(4,7,8) (2,51
40—5+— |3(6,9)(4,8)(2,7,5)1
[ RN
B OB 4 460M 714K 1-4 350M e & 1-4 910M &R 1-4-6 4,000
% B 4 180 4-6 930 | | 5 = 1-4 1,000/ | | 3=& 4-1-6 17,270/
1 170 1-6 1,050 B H 4-1 1,790M
6 370M

ABICOVWTRDTEEERROODE. TR LIV,




